HISTORY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two

(2) marks. Attempt all of them.

1. Which of the following games was
known to the people of the Indus
Valley ?

(A) Chariot racing
(B Game of dice
(C) Polo

(D) Horse riding

2. Which of the following did
Mahavira the real founder of
Jainism-belong to ?

(A) Inatrika tribe
(B) Malla tribe
(C) Lichchhavi tribe
(D) Sakya tribe

3. In which of the following Asokan
inscriptions the Brahmi script was
not used ?

(A) Saranath

(B) Shahbazgarhi

(C) Dhauli

(D) None of the above

4. The Neolithic people had their
settlements in
(A) Quartzite rocks
(B) Granite rocks
(C) Natural rocks
(D) Houses of burnt bricks

5.  Om which archaeological site the
evidence of fire cult was found ?
(A) Hastinapur (B) Alamgirpur
(Cy Kaushambi (D) Lothal

6. In which of the following years the
Numismatic Society of India was
established at Allahabad ?

(A) 1908 (B) 1910
(C) 1912 (D) 1914
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Chachnama is a history of Sind and
was originally written in

(A) Persian language

(B) Hebrew language

(C) Arabic language

(D) Sanskrit language

Mohd bin Tughlag and Emperor
Akbar used to drink the water of
which of the following rivers ?

(A) Yamuna river

(B) Ghaghra river

(C) Gangariver

(D) Indus river

Amir Khusrau is known to have
innovated musical instrument

(A) Violin (B) Tabla
(C) Guitar (D) Sitar

The marble stone used in the
construction of Taj Mahal was
brought from

(A) Amber

(B) Aurangabad

(C) Kishangarh

(D) Makrana

Arrange the following events in
chronological order using the code
given below :

(i)  Battle of Panipat I

(ii) Battle of Haldighati

(iii) Battle of Buxar

(iv) Battle of Dharmat

Codes :

(A) @, (D), (v), (i)

(B) (@, (v), (ii), (D)

€ @, G, ai), Gv)

D) @, @), G, Gv)
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13.

14.

15.

16.

17.

Who among the following Indian
rulers had first opposed the
Portuguese 7

(A) Krishnadeva Raya
(B) Pulakeshin II

(C) Akbar

(D) Zamorin

Who among the following did issue
the dastak ?

(A) Mughal Emperor
(B) Nawab of Bengal
(C) Governor of Fort William
(D) Diwan of Bengal

Muzaffar Jung, the Nizam of
Hyderabad, had granted territorial
concessions to

(A) Portuguese
(B) Dutch

(C) French

(D) English

Who among the following did start
the Ryotwari Settlement in Madras ?

(A) Thomas Munroe

(B) Alexander Reed

(C) Mountstuart Elphinstone
(D)  Henry Dundas

‘Mein Kampf” was written by
(A) Adolf Hitler

(B Mussolini

(C) General Franco

(D) Ottovon Bismarck

Which of the following was the
Nehru-Mahalanobis strategy associated
with ?

(A) National Planning Committee
(B) Bombay Plan

(C) First Five Year Plan

(D) Second Five Year Plan
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Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :
Assertion (A) : The early Aryan
settlers were
engaged in taking
possession  of the
land of the seven
rivers  represented
by the Indus and its
tributaries.

: We noticed conflict
between various
Aryan tribes.

Read the above statements and select

the correct answer from the codes

below :

Codes :

(A) (A)is correct, but (R) is false.

(B) (A)is false, but (R) is true.

(C) Both (A) and (R) are incorrect.

(D) Both (A) and (R) are correct

and (R) is the correct
explanation of (A).

Reason (R)

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : The Indo-Roman
Trade relations
declined during 34
— 4" century A.D.

: Increasing Brahmin
supremacy put a
riddle on sca
journey.

Read the above statements and select

the correct answer from the codes

below :

Codes :

(A) (A)is correct, but (R) is false.

(B) (A)is false, but (R) is correct.

(C) Both (A) and (R) are correct

and (R) is the correct
explanation of (A).
(D) Both (A) and (R) are incorrect.

Reason (R)
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(D) (A) T (R) SHI TeAd &
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20. Given below are two statements, one

21.

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion {A) : India is bounded on
the North by the
Himalayas and on
the South, East and
West by the open
sea.

: Thus India is cut off
from the rest of the
world.

Reason (R)

Read the above statements and select
the correct answer from the codes
below :

Codes :

(A) (A)is correct, (R) is false.

(B) (A) is false, but (R) is correct.
(C) Both (A) and (R) are incorrect.
(D) Both (A) and (R) are correct.

Given below are two statements, one
1s labelled as Assertion (A) and the
other labelled as Reason (R) :
Assertion (A) : Akbar wanted to
gstablish friendship
with the Rajputs.

Reason (R) : The Mughal links
with Central Asia
having been
snapped. Akbar had
to make friendship
alliance in India.

In the context of above two

statements, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the comrect explanation
of (A).

(BY Both (A) and (R) are true, but
(R 1is mnot the correct
explanation of (A).

(C)y (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.

Paper-11

22,

23.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Malabar pepper was
one of the most
important items of
export from India
during the period of
Akbar.

Reason (R) : The producing
regions and
principal exporting
ports in South India
were well outside of
Akbar’s empire.

In the context of above two
statements, which one of the
following is correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B Both (A) and (R) are true, but
(R 1is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : The Portuguese had
introduced violence
in Asian waters.

Reason (R) : The Portuguese

motive was to control
major sea lanes of
Asian trade.

In view of the above two statements,

which of the following is correct ?

Codes :

(A) (A)is false, but (R) is true.

(B)Y (A)is true, but (R) is false.

(C) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(D) Both (A) and (R) are true, but
(R) does not explain (A).
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D) (A) 7o &, g (R) W&t &
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I I g T3 ™ € | TH H
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(A) (A) 7T &, T (R) &l &

(B) (A) &l &, W (R) Tord &

(C) (A) @ (R) T |Er & @ (R),
(A) & W AT |

(D) (A) T (R) T W &, W] (R),
(A) I =TT FE FIA |
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Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion {(A) : Western education

had an important
role in the evolution
of Indian
Nationalism.

Reason (R) : Western education
produced a critical
public discourse
conducive to its
growth.

In the context of above two

statements, which one of the

following is correct ?

Codes :

(A) (A) 1is correct, but (R) is

wrong.

(B Both (A) and (R) are correct,
but (R) does not explain (A).

(C) Both (A) and (R) are wrong.

(D) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :
Assertion {A) : De-industrialization
was uniform neither
OVEr Space Nor over
the time period.
Reason (R) : The artisan
production did not
conform to a
particular pattern.
In the context of the above two
statements, which of the following is
correct ?
Codes :
(A) Both (A) and (R) are false.
(BY Both (A) and (R) are true, but
(R) does not explain (A).
(C) (A)is false, but (R) is true.
(D) Both (A) and (R) are true and
(R) is the correct explanation
of (A).
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Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : The Partition in
1947 led to large-
scale displacement

of population.

Reason(R) : The Partition in
1947 was 1ll-
conceived and
irrational.

In the context of the above two
statements, which of the following is
correct 7

Codes :
(A) (A)istrue, but (R) is false.

(B)Y Both (A) and (R) are true and
(R) explains (A).

(C) Both (A) and (R) are true, but
(R) does not fully account for
(A).

(D) Both (A) and (R) are false.

Arrange the following into historical

sequence and select the cormrect

answer from the codes given below :
(i)  Chalcolithic age
(ii) Tron age
(iii) Bronze age
(iv) Stone age
Codes :
(A) (i), (ii), (1), (iv)
(B) (), (1), (Av), (iii)
(C)  (v), (), (111), (ii)
(D) (Gv), (i), (), (iii)
D-06-11
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MTHT (A) TAT AL T BROT (R) el

TI?JT%‘:

AMFAT (A) : IRAT TR F
foprm H uwEtw feem w
HewaquT fHeR of |

HROT(R)  : TvETT T A 39
fo % fu wers, U

HHTATAAIHh OIICI]NI“I <l gSid

feman
I FadeAl & Ty ¥ efarad o
H DI TEE 2
Elcg_c‘.‘:

(A) (A) T, R (R) 71 &

(B) (A) @ (R) IHT T& & W= (R),
(A) I SATEAT &l Il

(C) (A) T (R) HT Toid &

(D) (A) T (R) THT W& & T4 (R),
(A) T TEl AT &

T S g §F ™€ | UH W
3TMTFHAT (A) TAT TE I HRIT (R) Fel
TI?TIT%:

AHAT (A) @ IF-IRAEROT I
q TEAE ST H & Uk 90
T |

HROT(R) : eCRGT ST UH
forer e 9 gHTEr e W o

SR Al & Gy H fefataa o

q HE T2

552':

(A)  (A) 71 (R) HT Toid &

(B) (A) @M (R) T Tl €, W (R),
(A) I ST &l el

(C) (A) T &, R (R) T&T &

(D) (A) @1 (R) SH1 T&I € a1 (R),
(A) T TEl AT &
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AMTHAT (A) TAT AL BT HROT (R) el
TI?ZIT%:

AWHYT (A) : T 1947 & fausH &
HOREET SEET 1 T THH W
foreamo gan

HRUT(R) @ T 1947 1 foumsH
Aferaia doT fodere o
ST FFTeAl & 98y § et §
T BT TS Gl § 2

FHe:

(A) (A)TEl &, W (R) Tord &

(B) (A) T (R) I1 W& &, a1 (R),
(A) I AT AT &

(C) (A) T (R) 1 W&l & W (R),
(A) T U7 foraroT W Tt et

(D) (A) T (R) THI TeAd &

frAfeiad =t ufdeas e | arerd
FIT T A T T P F FE I
T :

(i) ~ CTHETTT T
(i) g
(iii) T g
(iv) dremT T

T

(A) (i), (ii), (1), (iv)
(B) (i), (i), (iv), (iii)
(C)  (v), (), (111), (ii)
(D) (Giv), (i), (), (iii)
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30.

Arrange the following into historical
sequence and select the correct
answer from the codes given below :

(1) Greeks

(i) Romans

(iii) Sakas

(iv) Parthians

Codes :

(A)  (v), (iid), (1), (i1)
(B) (i), (1), (iid), (iv)
(C) (i), (iv), (1), (i1)
(D) Gv), (1), (i), (1)

Arrange the following Gods in order
of their importance in the Rig Vedic
Society and choose your answer
from codes given below :

(i) Agni

(ii) Varuna

(1ii1) Indra

(iv) Marut

Codes :

(A) (D), (1), (id), (iv)
(B) (iil), (1), (ii), (iv)
(€)  (v), (i), (1), (1id)
D) (), (), (id), (iv)

Arrange in chronological sequence
the following travellers’ visit to
India :

(i) Bermnier
(i1) Ibn Batuta

(iii) Hiuen Tsang

(iv) William Hodges
(A) (i), (i), (1), (iv)
(B) (i1), (iii), (Av), (i)
(€) (v), (i), (iid), (1)
D) (), (i), (iv), (11)
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31.

32.

33.

What is the correct chronological
sequence of the following Bhakti
saints ?

(i)  Chaitanya
(ii) Ramanuja
(iii) Tukaram

(iv) Namdev

Codes :

(A) (@), (iD), (i), (iv)
(B)  (@v), (i1), (iid), (1)
(€) @D, (@v), (@), (i)
(D) (i), (i), @), (iv)

What is the correct sequence of the
following events related to Shivaji ?

(i)  Treaty of Purandhar

(ii)  First Plunder of Surat

(iii) Coronation

(iv) Visitto Agra
(A) (), (1), (v), (iii)
(B) (1), (1i1), (1), (iv)
(C)  (id), (v), (1), (1)
(D) (), Gid), (11), (1)

English East India Company was
established in the

(A) Early Fifteenth Century

(B) Early Sixteenth Century

(C) Late Sixteenth Century

(D) Early Seventeenth Century
D-06-11
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29.

30.

fr=fafad @ Ufdeias w9 § et
FIT T A 53 T P T GE W
T

@ e

(i) T

(iii) ¥

(iv) WderR

TN

(A)  (iv), (iid), (1), (i1)
(B) (i), (1), (1id), (iv)
(€) (1), (v), (D), (D)
(D) (iv), (i), (id), (i1)

fAfafega Saarel 1 HegHA
TS H 3 Hewd o Y H oFared
T T2 e KT T F § W IW
9MT

Gy =

(i1) °reur

(i) T

(1v) w&d

%< :

(A) (), (1), (1), (iv)
(B) (i), (1), (id), (iv)
(€) (), (iD), (1), (11D)
(D) (), (i), (iid), (iv)

TAteliEa aEr & 3% 9Ra ST
% SHH | AT i

(i)

(i) ToT e

(i) &oH @

(iv) faferam gt

(A) (D), (i1, (1), (iv)

(B) (i), (iid), (iv), (1)

(C)  (v), (i1), (1id), (1)

(D) (1), (i), (iv), (i1)

31.

32.

33.

feifeRa W |l &l W&l HregeRd
AT HIT |

(i) a4

(i) TR

(iii) THERM

(iv) e

B

(A) (1), (i), (i), (iv)
(B) (iv), (i1), (iii), (1)
(C) (i), (v), (i), (iil)
(D) (ii), (1), (1), Av)

et @ getua Hefafad geTmst =
eI S T 2

(i) TR WY

(i) X I TET AR
(iii) TS

(iv) AT ANTHA

(A) (i), @), Gv), (iii)
(B) (), (iii), (i), (iv)
(C) (). (iv). (i), (i)
(D) (iv), (i), (i), (@)

foifest S Sfean Ul S =T F9 g
off

(A) gl vIdms! o SRS el |
(B) Wicted ITdTsT & SR et H
(C) Wrctedt IaTssT & 3ifaq #reT §

(D) Feeel TS o TR HieT §




3.

35.

36.

Arrange the following Viceroys in

historical order :

(1) Northbrook
(iiy Dufferin

(iii) Lytton

(iv) Mayo

(v) Ripon

Codes :

(A) (D), (1id), (iv), (v), (1)

(B) (i), (1), (id), (v), (ii)

(C) (), (1), (v), (iid), (i1)

D) G, (i), [v), @), (v)

Arrange the following wars in

chronological order using the codes
given below :

(1)  First Burma War
(ii) First Anglo-Afghan War

(iii) First Anglo-Maratha War
(iv) First Anglo-Sikh War
Codes :

(A)  (id), (1), (iv), (11)

(B) (i), (iid), (ii), (1)

(C) did), (ib), (1), (iv)

D) (id), (1), (i), (iv)

Arrange the following organisations
by the year of their foundation :

(i)  British Indian Association

(ii) Poona Sarvajanik Sabha

(iii) Madras Mahajan Sabha
(iv) Indian Association
Codes :

(A) (@), (1), (iv), (iii)

(B) (i), (i1), (iii), (iv)

(€) (D), (id), ([iv), (1)

(D) (), (i), (iv), (1)

Paper-11
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37.

38.

Arrange the following societies by
the year of their foundation; and
select the answer from using the
codes given below :

(1) Indian Association for the
Cultivation of Science

(ii) Society for the Acquisition of

General Knowledge
(iii) Bihar Scientific Society
(iv) Aligarh Scientific Society
Codes :
(A) (@), (id), (iv), (i1)
(B) (1), (iv), (iid), (i)
(€)  @v), (iid), (1), (1)
(D) (), (v), (), (i)

Match the List — I with List — II and
choose your answer from the codes
given below :

List -1 List — 11
(a) Srauta (i) Sacred and
Sutras secular law and
administration
(b) Grihya (ii) Rules for the
Sutras performance of

the great sacrifices

(¢) Dharma (iii) Directions for the

Sutras simple ceremonies
of daily life
(d) Sulva (iv) Rules for the
Sutras measurement and
building a place
of sacrifice and
the fire altars
Codes :
(@ (b)y () (d)
(Ay () (i) @) @{v)
(B) @) @Gy @Gv) @)
(€ av) aw  G) @
D) G @) @ aGv)
D-06-11



3.

35.

36.

frfefaa araeRmEt @ tfqeias w9 9
AT HIT

(i) E®

(i) WA

(iii) fete

(iv) ==

vy o=

E T
(A)
(B)
(€)
D)

(ii), (iii), (iv), (v), (i)
(iv), (D), (iii), (v), (i)
(iv), (1), (v), (iid), (ii)
(i1), (i), (iv), (1), (v)

frfaiad g&1 ot FIerwT § sared
T -

(i) W oH IE

(i) TIH ATA-THH I

(iil) TIH AT g

(iv) v 3fer-faeE g

HT:
(A)
(B)
()
(D)

(iii), (i), (iv), (i)
(iv), (iii), (ii), (i)
(iid), (iD), (@), (iv)
(i), (1), (ii), (iv)

frfefEa dmeat # 39R wI %
(i) Tofest 3o waItaURA

(i) AT WIESHE q

(iil) ST HEST F

(iv) Sfea waifaeeE

TR
(A)
(B)
(C€)
(D)

(i), (ib), (iv), (iil)
(1), (ii). (iid), (iv)
(i), (iib), (iv), ()
(1), (iib), (iv), (i)

D-06-11

13

37. T=fatEa ufaem s 39 e 9y

38.

% Y | FaRId HifeT qer 9= fgu T
T N ITAM T el I T

(i) ¥fea oo it f Hezder
3 AEH

TS B T wEEsieE i
SR e

foer wrEfeltre TramEet

AANTTE TETEthe qraTZer

(ii)

(iii)
(iv)
% :
(A)
(B)
(©)
(D)

(1), (iii), (iv), (ii)
(ii), (iv), (iii), (i)
(iv), (iii), (1), (ii)
(i1), (v}, (), (iii)

A - 1% gE — 11 % 9 gefe

FHISTT T A9 53 T FI ¥ T SW
9T
e -1 e - 11

(a) &fid g (i) o o
WAl fafer
LCR’HIEE]

(b) &I g (ii) TETETeRHT
T A &
o

(c) & g (i) 3F7F Se @
Heifera
TIRET ®
forT et

(d) eI g (iv) Sfeafear oem
sfafeal &
HT aar
feior e
e

&

(@ b © (W

(A)y () () (@) (@Gv)

(B) i) () (v) (@)

€y Gv) ) G @

D) G @) @ Gv)
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39.

40.

Paper-11

Match List — I with List — II and
choose your answer from the codes
given below :

List -1 List - 11
(Author) {Book)
(a) Kautilya (i) Smriti

(b) Bhadrabahu (ii) Mahabhashya
(iii) Kalpa Sutra
(iv) Arthashastra

(c) Katyayana
(d) Patanjali
Codes :

(@) (b)) (¢ (@
(A (v) @) @O 3G
(B) @) a) @ @Gv)
€ @ ay @) @Gv)
D) vy Gy @ i

Match List — I with List — II and
choose your answer from the codes
given below :

List -1
(a) Gita Govinda

List - 11
(i) Bilhana
(b) Parishishtaparvam (ii) Somadeva
(c) Kathasaritsagara (iii) Hemachandra

(d) Vikramankadeva- (iv) Jayadeva
charita

Codes :

@ () (©
(A) 1) G ai) av)
(B) (v) (i) ) (1)
(€) i) Gv) G @)
) G @) av) 1)

14

41.

42.

Match List — I of travellers with
List — IT of the rulers, visiting India
during the period of the latter. Point

out answer from the codes :

List -1 List — 11
{Traveller) {Ruler)
(a) Ibn Batuta (i) Mohd. bin
Tughlag

(b) Sir Thomas Roe (i) Shah Jahan
{c) Peter Mundy (iii) Jahangir
(d) Bernier
Codes :

(@ (b) () (d)
(A) @ G 3G) @Gv)
By @ @) av) (i)
(€ @y O Gv) ()
O Gv) O @) (D)

{(iv) Aurangzeb

Match List — I with List — II and
select the correct answer from the

codes given below :

List -1 List - 1II
(a) Zahiruddin (i) Akbar
(b) Jalaluddin (ii) Babur
{¢) Nooruddin (iii) Aurangzeb
(d) Alamgir (iv) Jahangir

Codes :
(@ (b)) (© ()
(A) () @) aG)  (v)
(B) (i) (1) (@v) (i)
€ @ Gy @dv) (i)
D) Gv) G @) @)
D-06-11



(a) Fifeea
(b) ¥sTE
(c) HIAEA
(d) TTesTer
E T
(@) (b)

(A)
(B)
(©)
D)

(iv) (iii)

(iii)
(1)
(iv)

(ii)
(ii)
(ii)

() (d)
@» G
@» @)
(iil) (iv)
@ (i)

40. T — I H gt — 11 & @ gafed

HIFAT o A F T FE W SO I
M

e -1
(a) T Mo
(b) TRy
(c) FAARENR

= - 11
(i) foeeq
(ii) TR
(iil) B9

(d) TosraTheaard (iv) SEed

T

o

(a)

A @

B) Gv)

(€) (id)

D) (i)
D-06-11

(b)
(ii)

(iii)
(iv)
(iii)

(c)
(iii)
(ii)
(ii)
(iv)

(d)
(iv)
(i)
(i)
(i)

15

41.

42.

et — 1 (@) bt et — 11 (2raeh) 77k
IEA HA T B YR 9 T, B
AT T | A1 ST T el | 3T

Wﬂﬁ?}l:

e -1 = - 11
(@) (ITT)
(a) ¥oT Sl (i) Trewg o=
QA
(by WARTY (i) IesTel
(c) dieX guet (iii) STEFTR
(d) IR (iv) T
&<
(@ b © (W
(A) (O Qi) @) ({v)
B) @ Gy (v) (i)
©) i) @ Gv) G
>y Gv) @) (i) (311)

gE — I & g — I & 91y gafea

i T A= 5T T F ¥ W IW
T -
e -1 = - 11
(a) STErEEM (i) TP
(b) ST (ii) ameT
(c) TEEM (iii) TSI
(d) AT (iv) SRR
[ YA

[=N

(@) (b) (c) (d)

(A) @ G 3G) @Gv)

B) Gy @O Gv) (i)

€ ® @) av) (3i)

D) Gv) G @) @)
Paper-11



43.

44.

Match List — I with List — II and
choose your answer from the codes
given below :

List -1 List — 11
(a) T.B. Macaulay (i) Permanent
Settlement
(b) John Shore (ii) Congress
(c) Elijah Impey (iii) Education
(d) A.O. Hume {iv) Supreme
Court
Codes :
@ () (©
(A) i) @) Gv) (i)
(B) @) @) @) Gv)
(€) @iy (i) @) av)
D) @) Gv) @) ()

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List — 11
(Author) {Work)

(a) R.C. Dutt (i) Social
Background
of Indian
Nationalism

(b) R.J. Moore (ii) Elite Conflict
in a Plural
Society

(c) AR.Desai (iii) Economic
History of
India

(d) H.J. (v) The Crisis of

Broomfield Indian Unity

Codes :

(@ by (@ (D

(A) (i) (v) (@ 34D
(B) (i) @Gv) (@) @
(C) Gi) @G G Gv)
D) @ @) @Gv) ()

Paper-11
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45.

46.

Match List — I with List — II and
select the correct answer from the

codes given below :

List — 1 List — 11
{Movement) (Region)
(a) Prati Sarkar (i) Bihar

(b) Chasi-mulia
Raj

{c) Ulgulan

(d) Tamralipta

(ii) Bengal

(ii1) Maharashtra

(iv) Orissa
Jatiya Sarkar

Codes :
(@ (b) () (d)

(A) 1) @ 3w @Gv)

(B) (i) Gv) (1) (i)

€ @ Gy @aGw) @v)

(D) iy Gv) 4 @)

Match List — I with List — II and
select the correct answer from the

codes given below :

List -1 List — 11
{Leaders) (Organisation)
(a) C.R. Das (i)  Krishak
Praja Party
(b) S.N. Banerjee (ii) Poona
Sarvajanik
Sabha
(c) AK.Fazlul Haq (iii) Indian
Association
(d) G.K. Gokhale (iv) Swaraj
Party

Codes :
(@ (b)) (@
(A (@ @) (@) (iv)

(B) @Gv) @) @) @
(C) an G Gv) (@
D) Gv) ) @O D)

D-06-11



43. g — I & gE - I % 9 gafe
IR T i ST T el Bt e ¥
wqﬁ@:

et -1 = - 11

(a) &1 o Wbl (1) T SRie

(b) ST 3T (i) T

(c) sfersm <0 (iii) Torem

(d) T3 g| (iv) S=aaq
eI G R

E!g?:

@ b © @@

(A) (i) @) Gv) @i)

(B) (i) (i) @ (v

€ (i) G @O Gv)

(D) (i) (Gv) (@) Gi)

4. O — I & gar — 11 & @ gafed
FT qo AT T W™ FA ¥ SW
9T

et -1 et - 10
(*TE) (3fen)

(a) I A.3T (1) v oF
U3TE AT
gfeam
EMEICEs)

(b) 3T & I} (i) T
HFTIE 3T T
R Wrgreet

(c) T 3R, <@ (iii) ShiAHES
et 3w
HERI]

() T3 3. JEes (iv) & whefa
AR e
Tt

BQTC:

@ b © @@

(A) (i) (Gv) (@) Gi)

B) (i) (v) G) @)

€y (i) Gi) @ ()

(D) (@) (i) Gv) Gi)

D-06-11
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46.

FISTT a7 A9 53 T FI ¥ T SW
gfT
et -1 e - 11
(3TETer) (&)
(a) UTd THRT (i) T=r
(by It gferar (i) e
ST
(c) 3T (iii) HERTZ

(d) el S| (iv) e
GIhT

(@) (b) () (d)
) (1) @) @(v)
(i) (iv) (@ 1)
(€) ) (i) (i) (Qv)
(iil) (iv) (i) (@

(M

(a) . I I (i) PUBUSH
i)

(b) TH. TF. ST (ii) A
BICEIEED
T

(c) T . FloloTedh (iii) Sfead

(d) ST &, &t (iv) SR el
&<
(@ () () (d)
(A) () (i) (i) (iv)
B) (v) Gi) G @)
€y Gy Gi) Gv) ()
D)y Gv) Gi) @) (D)
Paper-11



Read the following passage carefully and

choose the correct answer of the questions

that follow :
Hegel’s the

chasm separating Christian scholars and

philosophy bridged

secular philosophers. He provided enough
God to satisfy liberal Christians and an
emphasis on reason that appeased the
rationalists. In the process, he established
new paradigms that swept through
academia. His macro-historical approach
widened the sphere of historical studies. It
illustrated the benefits of expanding the
studies that had hitherto been limited to
political history and biographical works.
New possibilities in social history were
avidly accepted by the next generation of
historians, including Karl Marx. Efforts
were made to link separate histories into
an all-encompassing world history.
Hegel’s division of history into four great
(the Oriental, the Greek, the

Roman, and the German) convinced many

epochs

historians that different eras and cultures
were fundamentally dissimilar and had to
be evaluated within their own contexts and
in recognition of the specific “needs of that
age.” Hegel’s insistence that motives often
differed from those professed, led to a
more critical appraisal of source materials.
Actions, motives, and repercussions were
increasingly scrutinized for consistency,
and casual relationships became more and
more important. The dialectic model had
less immediate impact, but in later
generations it has become a staple tenet in

many historical interpretations.

Paper-11
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47.

48.

49.

50.

How did Hegel try to bridge the gap

between Christian Scholars and

Secular Philosophers 7

(A) By establishing new paradigm
that swept through academia.

(B) Provided enough God to
satisfy liberal Christians and
emphasis on reason that
appeased the rationalists.

(C) Emphasizing on reason only.

(D) Emphasizing on the Christian

Philosophy.

In Hegel’s time in which two spheres
historical writings were limited and
he was not satisfied with those :

(A) Limited to Christian History

(B) Limited to Secular History

(C) Limited to Political and
Biographical works

(D) None of the above

Hegel expanded history writings by
emphasizing on one of the following :

(A) Economic History

(B) Religious History

(C) History of Science and
Technology

(D) Social History

In Hegel’'s words motives differ
from but to
understand this one requires to

(A)

those professed,

Have more critical appraisal of
source material

(B) Try to identify motives
(C) Actions are to be underlined
(D) None of the above

D-06-11



frfeafaa meier # ey ufgy qon T@E
% ¥ 53 Ty % Wl S g

T % A A IR fOgEl qw ew
fRUeT St &% o9 @ @ F e T
TR A B G HH % AT ST T9aR-
T H YA w9 B GHE AT oo 9 &
TH W off I 5 o9 gfgarst T gu ||
sk SO 3 wiqEET st e e
Ig TR e &9 | e 3T | 39k Hehl
UfeTiaes SUr + UfiRIees el & SR
W foaa e | 37 TeEal — S e a%
STHITeR SfaeTd qe Seadrcds Hidar a6
difad & — i foeia FH & FER # ™|
UMY T WIETe0T T (a7 | et T 9ied,
T digt & sleerl 3 gmitee giae o
T HATATST T SRS SR (HT |
gereh SIcETHl i Fel-IRe fova-giaerd % @
Sed % v 6 T | e 3N R T
e & IR e § faue (@iuved,
T, T AT ) H IE SREER T T
fovarayea® @ier fFar & o= @wpioat
Td T Ao AN ¥, qUT KT HodAH
3% oo G qur gefud g @ fafe
SMETIHATT Bl PR b AT MY |
T & W a1 W Iel, [ Sgur andias
TSI T URTerT TSt | e g €, |
A i & A STeaTeTE godih
3R g fobam | ST & oW <t s
qAT AU WA H AgE T e gad
WO T TR o e T dey
Afys ¥ 31 Hewqol ad T | R
TTEel T AT TITE A o1, W 15
Ufgdl § oHe Uldends dmEret W 9w
3 fagid a7 T € |
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47.

48.

49.

50.

T 3 g whR TaE fagm don oy
feder retfent & mear @re =l are 2

(A) fogml & gag 73 wfqum @nfa
Ezdl

(B) IR TWEAl I He B % foIq
YR T T TA ©F G AL
qm d® W AR R ed
Fhgstitodi sl wfad fwar S
& |

(C) ohelel b WY SR fear |
(D) 39T 39 W SR fgam |

T g9 § BT g ooreEm W
e o diftd o @R 9 o'
T Tl e

(A) =9TE e o Fithd

(B) uH fRuet effera s Hitad

(C) TR 3T STeHHT FHiaa ae
e
(D) SR | HIE Tal

fr=iferd & @ 69w fama W & A
Tfeere e W SR fean 2

(A) o7 giaerd |

(B) e e |

(C) To=i e et Sfderd |
(D) M e |

A & VIs31 | gl aRatash qoT WS

TS § = €, fohe] SO I %

foTT sTaygear &

(A) T ERET 1 ST AT
o Al

(B) SE¥Al S YgdTH T WA

(C) rEr =l gHAT

(D) Wi | HIE &
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